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Note . First 15 minutes arc allotted for the candidates to read the question paper.
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Instructions : —

i} All questions are compulsory.

i1) Illustrate your answers with labelled diagrams, wherever necessary.

ui) Marks allotted to each question are mentioned against it.
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{ Multiple Choice Type Questions )
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1. Choose the correct option and write in your answer-book :

a) The ability to regenerate is founct.i.n

d)

10039

RN
i) Amoeba 8 ii) Paramoecium
N
S
i) Hydra 8e iv) Spornge 1
>y \
Turner syndrome occurs due to
)y XOo - i) XXY i) XYY iv) XXX 1

Which enzyme joins DNA fragmepts ?
i)  Polymerase i) Ligase
iii) Exonuclease - iv) Endonuclease ]

~N
The study of mutual ralations EBtween the organism and its environment is

called o
Qo
i)  Phytogeography i Autecology
iiij) Ecology - iv) Population 1
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( Very Short Anmr Type Questions )
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By which is the hormone named relaxin secreted ?

What is the total number of chrqmosomcs in humans ?
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How many contrasting characgs were there in the pea plant studied by

L8

Mendel ?

A typical nucleosome contains how many base pairs of DNA helix ?.

State two distinctive properties of any population.

(Hg:%‘am-x )

( Short Answer Type Questions-I )
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a)

b)

d)

c)

d)
5 %)

@)

What is the difference between domigance and recessiveness ?

)
State the main features of human %ome.
Qo
What are fermented beverages ? Wfite their names.

Write a note on Biosphere.

Explain the difference between in-s‘f?u and ex-situ conservations.
(g Iwia wy-11 )

( Short Answer Type Questions-II )
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Describe the structure of microsporangium with diagram.
What is placenta ? Write its functiqfis.

State the characteristics of genetic code.

What do you understand by biopir@' ?
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5. a) Why did Mendel choose pea plant.s{f_(;r his experiments ? 3
"
&)

b) Describe the common discases fou% in humans. 3
Q0

c) Explain the difference between exofiticlease and endonuclease enzymes.

1¥2 + 1'%

—

d) What are biofertilizers ? State the r((-ﬂ'é of micro-organism in their production.

https://www.upboardonline.com
1+72
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6. a) How does elephantiasis (Filariasis) occur ? 3

b) What do you un'dérstand by Bt ? E:CtElain-by giving example of Bt-cotton. 1+ 2

c) - What are the effects of drug and alcohol abuse on the body ? 3
d) Explain the reasons for ozone depl?tion in the stratosphere. 3
(R s weA )
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( Long Answer Type Questions )
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7. What is megasporogenesis ? Describe with diagram the development of female

gametophyte in angiospermic plant. 2+3

2N

Write notes on the following : 2%+ 2%
(1)  Diagram of transverse section of female ovary.
(i) Structure of human sperm. S
8. m@%mﬁﬁnﬁﬁd@ﬁﬁanmgﬁmmnﬁamhﬁml 5
()
m
e o feueft fafiaa - 2%+ 2%
(i) SO
(i) EmEier | -

8. Describe the structure of double helical DNA given by Watson and Crick with a

-

diagram. C 5
—
am
N
: -

Write notes on the following : 00 2V, 4 0
"

(i) Colourblindness

-

(i) Haemophilia.
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9. Describe different population growth models in brief.

OR

Write an essay on biodiversity and its conservation.

348(KL) - 1,91,620

10039

w

o


https://www.upboardonline.com/

